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O Z%d A&9A o I3 HAA vl

O AJF=E B GAFE

10 =2 8 X9 50m S10, 177HA =5 87HA|= &7t
il WM ez
=< B A == =2 T === Al =5 9 74
19| | 8+0+0+0%(8/17%100)+120 = | 496 12 [(8+0+0+0)*52]+150 = 566 Heuiau| g
29 7+0+0+0%(8/17%100)+80 = 409 29 [(7+0+0+0)*52]+100 = 464 ()1 5
39 6+0+0+0%(8/17%100)+40 = 322 C> 39 [(6+0+0+0)*52]+50 = 362
42| 5+0+0+0%(8/17*100)+0 = 235 42| [(5+0+0+0)*52]+0 = 260 e
[ ALK
59 4+0+0+0+%(8/17+100)+0 = 188 # [(4+0+0+0)+52]+0 = 208 Tj;f‘
6% 3+0+0+0%(8/17*100)+0 = 141 6% [(3+0+0+0)*52]+0 = 156 o
74 2+0+0+0%(8/17%100)+0 = 94 72 [(24+0+0+0)*52]+0 = 104
8¢ 1+0+0+0%(8/17%100)+0 = 47 8¢ [(1+0+0+0)*52]+0 = 52
101 55 = X8 50m S14, 177HA =5 87HA|= &7t
il MM ~ssolx
=2 B A &3 =2 A &y | dres
19| | 8+0+0+0%(8/17%100)+120 = | 496 12 [(8+0+0+0)=26]+80 = 288 Dt:'i s
22| 7+0+0+0%(8/17%100)+80 = 409 22 [(7+0+0+0)*26]+60 = 242 o
3% 6+0+0+0%(8/17+100)+40 = 322 C> 39 [(6+0+0+0)*26]+40 = 196
42 5+0+0+0%(8/17%100)+0 = 235 42| [(5+0+0+0)*26]+0 = 140 | Mz=s0l
52| 4+0+0+0*(8/17%100)+0 = 188 2 [(4+0+0+0)*26]+0 = 112 W 7hAR
6% 3+0+0+0%(8/17%100)+0 = 141 6< [(3+0+0+0)*26]+0 = 84 RS HE
7% 2+0+0+0%(8/17%100)+0 = 94 72 [(2+0+0+0)*26]+0 = 56
8¢ 1+0+0+0%(8/17%100)+0 = 47 8¢ [(1+0+0+0)*26]+0 = 28
20l 5 BIEBIE sus HAF B4, 1770 ES s/HAIE &7}
PLIES=ES
oIy WM Mg Jlesde
=
=2 LA A =E =2 A A == o
19| 16+0+0+0*(8/17%100)+120 = 872 19 [(12.8+0+0+0)x52]+150 = | 815.6 (?:%)496;:4
29| | 14+0+0+0%(8/17+100)+80 = | 738 29 [(11.2+40+0+0)+52]+100 = | 682.4 | 0 .o
3'?"' 12+O+0+O*(8/1 7*100)+40 = 604 E> 3'?"| [(96+0+0+O)*52]+50 = 549.2 oF 759% =7}
42| 10+0+0+0%(8/17%100)+0 = 470 42 [(8+0+0+0)*52]+0 = 416
52 8+0+0+0%(8/17%100)+0 = 376 2 [(6.4+0+0+0)*52]+0 = 332.8 | (7H4)
2 6+0+0+0%(8/17%100)+0 = 282 6% [(4.8+0+0+0)*52]+0 = 249.6 1¢l 566
79 4+0+0+0+(8/17+100)+0 188 79| [(3.2+0+0+0)*52]+0 = 166.4 | 22 815.68
82 2+0+0+0+(8/1 7*1oo)+0 94 8¢ [(1.6+0+0+0)%52]+0 = 83.2 oF 43% 37t
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Ul
ro
OB
o

AO[Z2 BN, 177HAEF 87HAI= &It

el M pdpm "
ol x4
=9 A 54 =4 =E=Tp BH | oo
1< 40+0+0+0%(8/17+100)+120 = | 2,000 19| [(32+0+0+0)*52]+150 = 1,814 ok 300% 7}
29| 35+0+0+0%(8/17%100)+80 = | 1,725 29 [(28+0+0+0)*52]+100 = 1,556
3¢ 30+0+0+0%(8/17%100)+40 = | 1,450 E> 3¢ [(24+0+0+0)*52]+50 = 1,298
42| 25+0+0+0*(8/17%100)+0 = 1,175 42| [(20+0+0+0)*52]+0 = 1,040 | Vi)
591 | 20+0+0+0+(8/17+100+0 = | 940 59 [(16+0+0+0)+521+0 = | 832 | 1% %%
62 15+0+0+0%(8/17x100)+0 = 705 6% [(12+0+0+0)*52]+0 = 624 ot o909 25}
7% 10+0+0+0%(8/17%100)+0 = 470 721 [(8+0+0+0)*52]+0 = 416
8% 5+0+0+0%(8/17+100)+0 = 235 82 [(4+0+0+0)*52]+0 = 208
112 55 E HZE 110, 177HA=F 87HA| = &7t
o1y b/ ol IS Bt eSS
Tty =g
=9 HEA A =3 =2 HA A =5
19 | 88+0+0+20%(8/17+100)+120 = | 5,196 19 | [(70.4+0+0+20)+52]+150 = | 48508 | (%
22 77+0+0+20%(8/17+1001+80 = | 4,639 29 | [(61.6+0+0+20)x52]+100 = | 4,3432 10: ff;iﬂ
32 66+0+0+20%(8/17+100)+40 = | 4,082 E> 3¢ [(52.8+0+0+20)*52]+50 = | 3,836 oﬁtggo% =1
42| 55+0+0+20%(8/17+100)+0 = | 3,525 4% [(44+0+0+20)*52]+0 = 3,328
52| 44+0+0+20+(8/17x100)+0 = | 3,008 5% [(35.2+0+0+20)*52]+0 = | 28704 | (7H)
62| 33+0+0+20+(8/17x100)+0 = | 2,491 = [(26.4+0+0+20)*52]+0 = | 24128 12l 566%
72 22+0+0+20%(8/17*100)+0 = | 1,974 7% [(17.6+0+0+20)%52]+0 = | 19552 112l 4,8508
82 11+0+0+20+(8/17+100)+0 = | 1,457 8% [(8.8+0+0+20)x52]+0 = | 14976 | 2H760% 37t
112 5 E7 XA 1128, 177X =F 87HA| = &7t
o198 WM «=5olH
I S
=4 HAA &8 =4 HAA =5 | wE A8
19 | 88+0+0+20%(8/17x100)+120 = | 5,196 14 [(70.4+0+0+20)*26]+80 = | 24304 (s
22 77+0+0+20%(8/17%100)+80 = | 4,639 29 [(61.6+0+0+20)*26]+60 = | 21816 4;;;§
391 | 66+0:0120+(8/17-100/+40 = | 4,082 | T | 3% | [(52.8+0+0+20)-26]+40 = | 1508 (S50l
42| 55+0+0+20%(8/17*100)+0 = 3,525 49 [(44+0+0+20)*26]+0 = 1,664 2,430.47%
52 44+0+0+20%(8/17%100)+0 = 3,008 59 [(35.2+0+0+20)*26]+0 = 1,435.2
62| 33+0+0+20+(8/17%100)+0 2,491 4 [(26.4+0+0+20)%26]+0 = | 12064 | H5uig
72 20+0+0+20%(8/17+100)+0 1,974 79| [(17.6+0+0+20)*26]+0 = g7 | %6.7:3.3
8¢l 11+0+0+20%(8/17%100)+0 = 1,457 8% [(8.8+0+0+20)*26]+0 = 7488
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I E 57 2

rio
oM
i
o
o
do

M5 giyA|z &h SIE2IT @A H7h
Mg =30
=2 A=A Al =Y =2 H ===l A =3 e
19| [(8+0+0+0)*52]+150 = 566 19| [(8+0+0+0)*26]+80 = 288 °F6.7: 3.3
22| [(7+0+0+0)*52]+100 = 464 2% [(7+0+0+0)*26]+60 = 256
3¢ [(6+0+0+0)*52]+50 = 362 E> 3% [(6+0+0+0)*26]+40 = 208
48 [(5+0+0+0)*52]+0 = 260 4] [(5+0+0+0)*26]+0 = 140 | HFFaslet
59 [(4+0+0+0)+52]+0 = 208 59 [(4+0+0+0)*26]+0 = 112 ii:;ﬂf;'
6 [(3+0+0+0)%52]+0 = 156 62 [(3+0+0+0)*26]+0 = 84
7% [(240+0+0)*52]+0 = 104 721 [(2+0+0+0)*26]+0 = 56
8% [(1+0+0+0)*52]+0 = 52 8¢ [(1+0+0+0)*26]+0 = 28
&M E 27t L E B2 (1915 %)
MEE GIHAIE &I SIYCIE (1072 &7}
=2 A== Al =3 =9 A A =3
19| [(56+0+0+0)*34]+150 = 320 12 [(8+0+0+0)*32]+80 = 336
2% [(4+0+0+0)*34]+100 = 236 2% [(7+0+0+0)*32]+60 = 284
32 [(3+0+0+0)*34]+50 = 152 E> 3¢ [(6+0+0+0)*32]+40 = 232
4% [(2+0+0+0)*34]+0 = 68 42 [(5+0+0+0)*32]+0 = 160
5% [(1+0+0+0)*34]+0 = 34 # [(4+0+0+0)+32]+0 = 128
6% [(3+0+0+0)*32]+0 = 96
79 [(2+0+0+0)*32]+0 = 64
8% [(1+0+0+0)*32]+0 = 32
CUNEE I Ol 1+70259) 52A7119359)
M2 (1074412 &IH TR (167HA=E &7h
=2 A=Al =3 =2 HEA A ==
12| [(12.8+0+0+0)*64]+150 = | 969.2 12 [(70.4+0+0+20)+50]+80 = | 3,600
22| [(11.2+0+0+0)*64]+100 = | 816.8 22| [(61.6+0+0+20)*50]+60 = | 3,140
3% [(9.6+0+0+0)*64]+50 = 664.4 E> 39 [(52.8+0+0+20)*50]+40 = | 2,680
% [(8+0+0+0)*64]+0 = 512 42 [ (44+0+0+20)*50]+0 = 2,200
52 [(6.4+0+0+0)*64]+0 = 409.6 2 [(35.2+0+0+20)*50]+0 = 1,760
62 [(4.8+0+0+0)*64]+0 = 307.2 62 [(26.4+0+0+20)*50]+0 = 1,320
7% [(3.2+0+0+0)*64]+0 = 204.8 72 [(17.6+0+0+20)*50]+0 = 880
8% [(1.6+0+0+0)*64]+0 = 102.4 8¢ [(8.8+0+0+20)%50]+0 = 440
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@ NAA 7}atH

=% 758 Som 510 1TNES SHAE B
JHEIX| I} OfHd AT JHE|X]

| A=A Al =5 9 H ===l A 5 JHE| K| 7}
12| | 8+0+0+0+(8/17+100)+120 = | 496 12 | 8+0+1.6+0%(8/17+100)+120 = | 571.2 19lel #e
22 7+0+0+0(8/17%100)+80 = 409 29 7+0+0+0%(8/17%100)+80 = 409
39 6+0+0+0%(8/17+100)+40 = | 322 C> 39| | 6+0+0+0#(8/17+100)+40 = | 322
49| 5+0+0+0+(8/17%100)+0 = 235 49| 5+0+0+0+(8/17+100)+0 = 235 7”f"('7f
59 | 4+0+0+0%(8/17+100)+0 = | 188 591 | 4+0+0+0+(8/17+100)+0 = | 188 = 15% 74
6<% 3+0+0+0+(8/17%100)+0 = 141 6% 3+O+O+O*(8/17*100)+0 = 141
79 2+0+0+0%(8/17%100)+0 = 94 79 2+0+0+0%(8/17%100)+0 94
8¢ 1+0+0+0%(8/17%100)+0 = 47 8¢ 14+0+0+0%(8/17%100)+0 = 47

+% X3 50m S10, 1770AIE3 87fAlE &I (M+5)

INEIX|I} Ot Al INE]X|

=2 A =3 =2 A A =3
19 | [(8+0+0+0)+52]+150 = | 566 191 | [(8+0+1.6+0)-62]+150 = | 649.2 | UV
2% [(7+0+0+0)*52]+100 = 464 22 [(7+0+0+0)*52]+100 = 464 Teer
3¢ [(6+0+0+0)*52]+50 = 362 E> 3¢ [(6+0+0+0)*52]+50 = 362
49| [(5+0+0+0)*52]+0 = 260 42 [(5+0+0+0)*52]+0 = 260 THE| K| 7Hok
52| [(4+0+0+0)*52]+0 = 208 2 [(4+0+0+0)*52]+0 = 208 oF 15% =7}
6% [(3+0+0+0)*52]+0 = 156 6% [(3+0+0+0)*52]+0 = 156
72 [ (2+0+0+0)%52]+0 = 104 74 [(2+0+0+0)*52]+0 = 104
82 [(1+0+0+0)*52]+0 = 52 82 [(1+0+0+0)*52]+0 = 52
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Sl Ul A ZEESHA S22 M4 H|DE (M353] th37]|F)

o e o1 & = 5| A H(eh) =

= (Rizs2) A Mg S0l
z= z= e o
A | 18008 | g | 16018 | BRI | 157087 | B | 26300 | Hiuig
100% 100% 100% 100%
1 EAH 50,148 2.7% 47,438 2.9% 47,438 | 100.0% 0 0.0%
2 == 127,990 6.9% 113,416 6.9% | 102,755 | 90.6% | 10,661 9.4%
3 BT 5,469 0.3% 15,214 0.9% 15,214 | 100.0% 0 0.0%
4 7= 15,201 0.8% 17,767 1.1% 17,767 | 100.0% 0 0.0%
5 EHoEH| 20,543 1.6% 23,518 1.4% 17,954 | 763% | 5,564 | 23.7%
6 ZHofs7 47,651 2.6% 35,467 2.2% 21,675 | 61.1% | 13,792 | 38.9%
7 = 151,045 8.1% 109,169 6.7% 78,659 | 721% | 30,510 | 27.9%
8 Hi=DIEA 68,093 3.7% 64,360 3.9% 53,781 836% | 10,579 | 16.4%
9 EXlot 31,928 1.7% 34,940 2.1% 34,940 | 100.0% 0 0.0%
10 CAATES 36,707 2.0% 26,116 1.6% 18,039 | 1% | 8,076 | 30.9%
11 == 117,901 6.3% 107,545 6.6% 90,670 | 84.3% | 16,875 | 15.7%
12 | ZHOEHA 21,600 1.2% 22,863 1.4% 22,863 | 100.0% 0 0.0%
13 Hi 20,592 1.1% 22,562 1.4% 22,562 | 100.0% 0 0.0%
14 E 4,081 0.2% 3,811 0.2% 3,811 | 100.0% 0 0.0%
15 == 20,254 1.6% 29,292 1.8% 29,292 | 100.0% 0 0.0%
16 S| 19,374 1.0% 13,564 0.8% 6,045 | 482% | 7,020 | 51.8%
17 o= 57,240 3.1% 42,012 2.6% 42,012 | 100.0% 0 0.0%
18 T 138,021 7.4% 125,947 7.7% | 116,381 RA4% | 9,566 7.6%
19 o=gs= 55,707 3.0% 38,675 2.4% 23,818 | 61.6% | 14,857 | 38.4%
20 AA 59,223 3.2% 58,799 3.6% 58,799 | 100.0% 0 0.0%
21 San 34,777 1.9% 35,830 2.2% 23,325 | 1% | 12,505 | 34.9%
22 B 194,017 10.4% 199,009 121% | 192,964 | 97.0% | 6,045 3.0%
23 o 206,904 11.1% 147,706 9.0% 74597 | 821% | 73,109 | 49.5%
24 AOIZ 82,109 4.4% 71,661 4.4% 64,955 | 90.6% 6,706 9.4%
25 == 50,712 2.7% 24,932 1.5% 0 0.0% | 24,932 | 100.0%
26 HIS 61 0.003% 213 0.01% 0 0.0% 213 | 100.0%
27 et 205,605 11.0% 210,358 12.8% | 196,057 | 9B2% | 14,301 6.8%

(el MEA BIHESAIHES H 2
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iSanlol S eE A JHM AlEE HpeH|WE (M353] t=l7|E)
ot | amg | B EREA HeAA NN HeH =Y
(R1352]) A Mg s5ol%

A 1,800,953 | 100% | 1,642,182 100% | 1,376,872 83.8% | 265,310 | 16.2%
ME 156,693 8.4% | 139,576 8.5% | 118,390 84.8% | 21,186 | 15.2%
2 T 107,231 5.8% 91,377 5.6% | 73,103 80.0% | 18,274 | 20.0%
3 ol 128,631 6.9% | 115,355 7.0% | 98,346 85.3% | 17,009 | 14.7%
4 o+ 119,039 | 6.4% | 104,561 6.4% | 92,552 88.5% | 12,009 | 11.5%
5 e 92,073 4.9% 76,107 4.6% | 58,813 77.3% | 17,294 | 22.7%
6 oH 185107 | 8.3% | 128,696 7.8% | 105,224 81.8% | 23,472 | 18.2%
7 =4t 88,512 | 4.8% 75,792 4.6% | 62,300 82.2% | 13,492 | 17.8%
8 ME 6,581 0.4% 5,092 0.3% 2,800 55.0% 2,292 | 45.0%
9 27| 230,709 | 12.4% | 207,384 | 12.6% | 180,401 87.0% | 26,983 | 13.0%
10 R 143,374 7.7% | 132,998 8.1% | 117,989 88.7% | 15,009 | 11.3%
11 5= 139,771 75% | 117,107 71% | 93,232 79.6% | 23,875 | 20.4%
12 e 107,691 5.8% 95,426 5.8% | 76,600 80.3% | 18,827 | 19.7%
13 N 60,325 | 3.2% 59,175 3.6% | 51,144 86.4% 8,031 | 13.6%
14 g 75,167 4.0% 66,211 4.0% | 53,695 81.1% | 12,516 | 18.9%
15 z5 110,543 5.9% 99,382 6.1% | 82,786 83.3% | 16,595 | 16.7%
16 a5 7758 | 4.2% 69,747 4.2% | 59,347 85.1% | 10,400 | 14.9%
17 X = 61,918 | 3.3% 58,194 3.5% | 50,150 86.2% 8,044 | 13.8%

12 oSS EIHA M5 &IIE JHEstol A&
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S58 NFOME HAE

T HCH2| 7HZ] MIFO|HIE _._ =
| o 2T (¥1358]) T =
H °Te 2| ol X AT M| EO|HI E S5 A : PR 5 o A ol
PG(20162|2) APG(20142! H) DP(20132/0) " | M=% (Elite Division) | %' | 2% (Cub Division)
EH4|
1 ES ("7 |EFEO) &, of | (RTtV|ErEol) |, o - (Hctal7|efEtol) &, of 2 (M7 |EFEol) &, o - -
vope | sz | eg| A7 |uz
TPB1 oE; mogy | sz | 4| AT | w2
(A Z+=HoOR) IE::%; ::3 TPB Azt
TPB1, 2, 3 (&,04,221%) (R ZHErol) wet 3 [ TPBe I ¥ 3 oo = gz | sz | 4w % |
TPB1~3 (24 421%) ek [ e 710 [ Tpes e, (o =
Ha _ e (TPB5,TPBS) | |, JHold, Sixron/ EIC ] R 2 et o E
2| &8 (R b 7| Efof) TRk o W I vl IR i i ) i ST e ey (VO 0 oy
T - =1 0:1 E}‘i‘” S| ini»o TPB8 2rf s (TP ng a7 ZIEHBO | roms Tes | &/ PAIES ke
TPBS, 9 (i,09,201) | =01 =A AEEN e i ST HHE | eer sy
TPB8~11 (E/}é 4?_'5) [TPBEET'PBM) <7 AlZEol | TPBI~TPB3 Ly I
0B P X| % &0f | TPR8~TPBI1 ;@ 4olx
Aol [TPBi-Teeg | Wi | srmoi] o8 |7
Az [resrei| ga| U [T
x4 ZFA}
! (=240 (=12¢3500)
_58KgT_68Kg 27| £7]
B0 +80 | 5Bk ~68ks, ~80kg +80kg ~58kg, —68ky, ~80kg +80kg S
i ' S e S S
A S
3 | eas _ _ 496, 57k ~49kg, -57kg, —67kg +67kg | | | —4%kg, ~57ks, ~67kg +67ko | _ B Mol =
e one ok, Elaf o3z, el e
Mg
ot = -
24 Z4 ZA o
THoRi(0) open/7H A& (',04) open/7H 2l & (,04)
IR 0], 2A) SHHF (01, 2 4) CH B (2,09, 24)
(M ZHErol)
(Al2tZloH) (AlZHEof) ~60kg, -66kg, —73g, | (AIZFEOH) (EZfEoH) (AZHEol) (Eztzlot)
~Blkg, 6Bk, 73k, ~8lkg, -90kg, | —B0kg, Bk, ~73kg, Blkg, 90k, | ~Blkg, -0k, 100Ky, | B0k, ~6Bkg, ~73kg, -Bkg, A0kg, 100 ~Blkg, -6k, ~73g, ~8lkg, ~S0kg, —100Kg,
~100kg, +100kg ~100kg, +100kg +100kg, open kg, +100kg +100kg
4 T | 2X =N | LX) ChRIA A SR 32 | At eHA - -
~48g, ~82g, -57kg, 63, ~70kg, | —48kg, ~52kq, ~O7kg, B3, ~70kg, | —48kg, 52, kg, | 48k, ~5g, -5kg, 63, ~70kg, ~78k ~48g, -5, ~57kg, ~63kg, ~70kg, ~78kg,
+70.00 kg ~78kg, +78.00 kg 6, kg, +70.00 | 0. +78.00 kg +78.00 kg
ofxt OfR}, EhH kg, open Ofx}, CHH OfR} i
04x}
o Mgy |epEo
o | BAOl | (memero (Yera7 o) ;j: - = 1 (Yer7 o) 1 (Y ete o)
= = - —=(Qua =3
= FE=(Quad) 4 HE(Quad) =M 7 =(Quad) 24 2E(open) =4




IS WA MFo|ME " -
ol T HHH (8352)) =
o SRS ° ol % AR M EOHIE 55 AH ] Al 3= =5
PG(20162| %) APG(201421H) | DP0134X[0f) . | M=% (Elite Division) | %' | 225 (Cub Division)
(Rch2o|EFEbol)
eI |EFEO eI EFEO AT EFEO
6 ey (" IJ H) (" IJ i) B OPEN .o 5 (" ILL H) 1 (x| = B0l ot
OPEN &,04 OPEN &,04 (XI={=Fof) ot OPEN H,04
(lMoj)) 79I S+
B _ ) A|ZFEION) AO§ 5olR| =7 Lt M| 7o1 =t _
=5 (o) 7o =7 (cldol) 7o =7 (H2Hzhol) iz ol:}(\Dl 550|x{|| ;:;L:FL o 3 E |7 pxt:Hl; SOW: i Lt 5 (RIEEol) 112 =+ &
AR Olf| =1 L+ AZERDH) 50| == Lt o] =7 Lt e = e AZEEDl) o8| 5ol =7 Lt
(ARFEDH) 5o = (ARFEDH) 5o = MoK =7 H (RIEON) 11917 =7 ot (R12F50H) 119K =7 ot (A0l of| 5| =7
(BZF=ol) 11eld| s+ L
S5 48] ME3S |Hla 0wy | 53 [4¥] Aes=
BMSTL1 | & | ©HA/54 WHT
BMSTL2 | &rol | EH/=4 WH2 Sohed] =2 | 42 | doz=
(Mcialy | EFEO) _ BMSTL3 [0l | EHy/54 SL3  |utof =X
L CRAL M (Xo-lj—!';él'ol'l) BMSTU4 | &,0i | CHAl/= Al SL4
HHE = - R WL VD 93 94, 95 - I_;‘I ;_: (=et = Sus (mera | OPEN ), Al /= Al
alE] - EWN 1/2 SL3, SL4, SUs = o BMSTUS | &0 | EFAI/EA _ 30 - - — 8 Jerso) | (zpAl) =01 E/EA
= Of 1 EHAIWHI/2, SL3, SLA/SUS | cpal/mal/sm | —OPEN Eo| SAH/54 |88 WHI WH2 | =01 =4 25
=4l 5= === DB |&o| chAl/=4A | S SL3.sl4 | & =4
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